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2018 Practice Paper
Paper 2 (Calculator)
Foundation Tier

Time: 1 hour 30 minutes

. Y,

You must have: Ruler graduated in centimetres and millimetres, Total Marks
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

* Use black ink or ball-point pen.

* Fill in the boxes at the top of this page with your name,

centre number and candidate number.

= Answer all questions.

« Answer the questions in the spaces provided

— there may be more space than you need.

» Calculators may be used.

» Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working.

Information

* The total mark for this paper is 80
* The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
 Read each question carefully before you start to answer it.
= Keep an eye on the time.

« Try to answer every question.
» Check your answers if you have time at the end.
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1  Write down the value of the number 4 in the number 3451

(Total for question 1 is 1 mark)

2 Ruth buys p potatoes and ¢ carrots.
Write an expression for the total number of potatoes and carrots Ruth buys.

3 Change 3 hours into minutes.

3 x 6O

(Total for question 3 is 1 mark)

4  Here is a list of numbers.

(a) From the numbers in the list, write down a prime number.

(b) From the numbers in the list, write down a square number.

(Total for question 4 is 2 marks)

5  Write down all the factors of 24.

I 24
4 ¥z
3 ¥
y b

........................................................

(Total for question 5 is 2 marks)
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Mason wants to buy 6 pens.
Each pen costs 28p
Mason pays with a £10 note.
(a) Work out how much change Mason will get from £10.
6 x 283 = 163
E1.68
jo —i.68 = E¥® 32

(b) When in the shop Mason finds out that the price of the pens has been reduced.

How does this affect the amount of change he will get?

....................................................................................................................................................................

..........................................................................................................................................................................

(Total for question 6 is 3 marks)

What fraction of this shape is shaded.

75 _ 3
20 3
2
3

.................................

(Total for question 7 is 2 marks)
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8  There are three different options for main course and three different options for dessert.

Main Dessert
Fish and Chips Fot C FruitSalad T S
Lasagne L Cheesecake (°
Vegetable Curry \/ ( IceCream | (

(a) List all the different combinations that can be chosen

.......... Fac FS..LFS ..vC FS. .
Fal ¢ L C ve C
Faf ¢ L IC ve IC

........................................................................................................................................

(Total for question 8 is 2 marks)

Find the size of angle marked x.

/S0 — &1

(Total for question 9 is 1 mark)
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10 There are 924 people in a theatre.

383 of the people are men.
356 of the people are women.

% of the children are boys.

Work out how many girls are in the theatre.

9224 —3833—35¢ =

,}5/-,% 185 -~ 74

15 — 7 = (/[

/| 85

(Total for question 10 is 3 marks)

11 A map has a scale of 1cm to Skm.
The distance between London and Dover is 60 km.
What is the distance on the map between London and Dover?

o
£9. = 1L

5

e cm

(Total for question 11 is 2 marks)
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12 On Monday Matt delivered some parcels.
The travel graph represents the first hour of Matt's journey.

A
5

Distance

home

(km)

1
/
/
A >
0900 0930 1000 1030 1100 1130
Time
(a) What time did Matt start his journey?
...... @lee .
0]
Matt stopped to deliver a parcel.
(b) What was the distance between Matt's house and his first stop?
3 kem
M

Matt stopped at 1000 for 30 minutes to deliver a parcel. He then returned home at a steady speed.
Matt got home at 1115
(c) Complete the travel graph to show this information.

@

(Total for question 12 is 4 markp
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C 3 D
An area is formed by a square, ABCD, and a semi circle.
BD is the diameter of the semi circle.
The radius of the semi circle is 4m.
The area is going to be covered completely with lawn seed.
A box of lawn seed covers 25 m?.

How many boxes of lawn seed will be needed?

Aree o} Square = gx &§ = 64 m
Area of Semicircle = é_— T (¢) 2
- 8’7}' of 2.5 ! m

Total area= 6% 4 251

2

~ §9./ m
ed .
4 bokxes o} seed «re need

(Total for question 13 is 5 marks)
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8 -7 6 -5 4 -3 -2 -1 O 2 3 4 5 6 7 8

Rotate triangle A 90° clockwise, centre O.

(Total for question 14 is 2 marks)
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Here are the first 6 terms of a Fibonacci sequence.

1 1 2
Find the 8th term of this sequence.
5+8 = I3

¢ + 13 = 2]

(Total for question 15 is 3 marks)

16 The table shows information about the number of points scored in a game.

Points Frequency
0 K 10 o
1 ¥ 12 ]2
2 K 20 o
3 X 7 2|
4 A 4 ] 6
5 & 1 5
Work out the mean number of points per game. -3 (]l 7¢
¢ - |
— T4 07407/
5¢
174 (2dp)

.............................

(Total for question 16 is 3 marks)
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17 In abox there are black pens, red pens and green pens.
The ratio of black pens to red pens to green pens is 8:3:2

There are 18 red pens in the box.
How many black and green pens are in the box?

B R &G
5 5 ¢
4,9-?',8 12
4 K
/5 ¢
P

(Total for question 17 is 3 marks)

18 Brian bought a hat in France. He paid €45.
The same hat in England costs £39.99.

The exchange rate is £1 =€1.12

Is the hat cheaper in France or in England?
You must show your working.

3997 x1.12 45 > 1.12 = E40.i¥
<€ Ly.T79

The hat s Chbopls W Er\@lq‘mot_

(Total for question 18 is 3 marks)
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19 nisan integer such that -3 <2n<6
Write down all the possible values of n.
—1.5<n <73
—1,0,1 P
(Total for question 19 is 2 marks)
20

Here are a list of ingredients for making 16 mince pies.

260g Butter

375¢g Flour

1259 Sugar
600g Mincemeat

Elaine wants to make 72 mince pies.

How much of each ingredient will Elaine need?

j6 x 4.5 = 72

275 x 4.5 = J6%7-5
125 X 4.5 - 5é62.5

Cos X 4p.§ - 2700

.......................

.............................

(Total for question 20 is 3 marks)
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21 There are only red counters, blue counters, yellow counters and black counters in a bag.

The table shows the probabilities of picking at random a red counter and picking at random a black

~

counter.

Colour red blue

yellow black

Probability 0.22 2 >

>C 0.34

Find the probability of picking a blue counter.

The probability of picking a blue counter is twice the probability of picking a yellow counter.

| — o .22 — 0 - 34
e = O-%Y
= il
I‘ 75—
- 22
2x 75

e C)-"‘“"f

(Total for question 21 is 2 marks)

22 A number y is rounded to 1 decimal place.
The result 1s 5.8

Write down the error interval for y.

(Total for question 22 is 2 marks)

J




23 It takes 5 machines 6 hours to produce 1000 DVDs \

Work out how long it would take 4 machines to produce 1000 DVDs.

X 6 = 30 <3C)Pmur3requ|ﬂhi>

2= = 7.5 hovrs

(Total for question 23 is 2 marks)

24 A sphere is carved from a block of wood.

4
The sphere has a radius of Scm. Volume of sphere = 57”’3

The density of the wood is 0.85 g/cm’

Find the mass of the sphere.
Give your answer to 3 significant figures.
MoRS = @Le,ng';t:j K volume

\_

Surface area of sphere = 47r*

=1

3
i

2 (5)

- 500

—

3

Volume

§

|

_—

mass = arltsS X 0.85

¢45 9 (3s4)

|

_____ Y432 ...q

(Total for guestion 24 is 3 marks)
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25 An artist is making orange paint by mixing red paint (x ml) and yellow paint (y ml) in the ratio 8:11

ﬁ\\

(a) Use this information to draw a graph showing the relationship between the amount of red paint and
the amount of yellow paint used.

o | ‘8'//4 Z‘f 52
y[u ] zz/sz/w

70 ¥

60

N

50

Yellow Paint (y) A
40

30

20 4

10

0 10 20 30 40 50

Red Paint (x) @

(b) The artist decides to use 50ml of yellow paint. Use your graph to work out how much red paint he
should use.

o %6 .5 ml
[36 B& 55T

(Total for question 25 is 4 marks)
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B 25°
20 cm
J
xcm
F
16 cm
Work out the value of x.
Give your answer to 1 decimal place.

2 r

\j?' }é = 20
O ' ~

. J y = goom 2S¢

= ] 4y

[A .j = | 2
= 25 /2
Sin (25) = =
|2 X

@ x@ z = lE-
5in (@5)
- ,2 g ‘-f cm

(Total for question 26 is 4 marks)

/
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x+92

3x+4y 7 3x+10

The diagram shows a parallelogram
All of the angles are in degrees.

Find the value x and the value of y.

¥ o+ JidL =
72 =

g & F
x’»“#/

41+92 = /33

J§0 — 133 = ¢ 7

3x + ¥y T 7
3(et) v by T T

49 s =7
y=

(Total for question 27 is 3 marks)

o,
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28  Solve the simultaneous equations

q,x—-éji Y
Lf;(— _.:3 ‘—"}3
’5—3:_‘5

2x- 3(i) =¥
e =3 = %
2x = 7/
X = 3.5

.............................

(Total for question 28 is 3 marks)




6 (a) Write 56800000 in standard form. \

(b) Work out the value of (9 x 10°) + (4 x 10°)

(Total for question 29 is 3 marks)

30 Charlie invests £2500 for 3 years in a savings account.
She gets 3% per annum compound interest.

How much money does Charlie have at the end of 3 years.

2/5”00 Pl /03

=42 751.82

(Total for question 30 is 2 marks)
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31 Harry has two bags of counters, Bag A and Bag B.

There are 5 red counters and 3 blue counters in bag A.
There are 4 red counters and 5 blue counters in bag B.

Harry takes at random a counter from each bag.
(a) Complete the probability tree diagram.
Bag B

Bag A

Red
Red
Blue
Red
Blue
Blue
(2)
(b) Work out the probability that Harry takes two blue pens.
3 P 5
i -
g 9 =X
L4
)

(Total for question 1 is 4 marks)




